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Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions (any ten) :
1x10=10
o 2R Teq frdn (R cereen w=ht)
(a) What is ordinal utility?
IS Gofcael % 2

(b) State the law of equimarginal utility.
SHAfee Teicatarer Ridch Seas 41 |

(c) Define indifference map.
feRCer® (I IEdEs Sigest i |
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(2)

(d) What is the marginal rate of substitution
between two perfectly complementary
goods?

71 o R AN wae Afee afeTsd [
292

(e) What is substitution effect?
eifses Remre 2

() Mention the ‘Giffen paradox’.
o ST1Co1 Sead 91 |

(g) What is meant by production?
oA e 5 g 2

(h) Give one example of implicit cost.

TS IS 5T SRR el |

() What is meant by a person be risk lover?

T ot 1531 ToE A 6 @ ?

() Why is the long-run average cost curve
U-shaped?

DT 91T IR @0l U-SIfed 77 21 2

(k) What is iso-cost line?
SR @91 2
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(3)

() How do you calculate the marginal rate of
technical substitution?

AT e ofoTs W P (T A
12

(m) Draw an isoquant curve for perfect
complements of factors.

ofef #IfReEe TAMAT GO HA-TRATH (I S
Eaifl

(n) Mention one important reason for
decreasing returns to scale.

TP S @R o1 geeeyd IRT Soay
e\l

(o) Define variable factors.

AfRSTe SomeE SRRl T |

(p) What are iso-utility curves?
-Gl (PR f$ 1% 2

(gg Why is average revenue curve of a firm
under perfect competition horizontal?
of ST T@E AfSdM GoF TT TF
@91 o1 Arplie = ?

() Why are selling costs not incurred in
perfect competition?

7 afecafreere JemTs & I [ 391 7= 2
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(4)

2. Write short answers of the following questions
(any five) : 2x5=10

Go 2RI 5 eq fran (R e #Aivd) ¢

(a) What is meant by the slope of an iso-cost
line?

A (S GO Ot WG 9@ ?

(b) Distinguish between gross demand and
net demand.

I8 T ST W SIRAE e A1 T 4 |

() Can we apply the law of diminishing
marginal utility to money? Give reason.

TP difes  Socfel R e quE
CFqo A5 IR AT ? e fn o

(d) State Slutsky’s equation.
B9 STRIFICH! oAy 91 1,

(e) 1f B=x-P,+y-P,, where B represents

money income of the consumer, P, and
P, represent prices of goods x and y
_ respectively, find the slope of the

equation.

3t B =x- P, +y- P, &, T® B2 el
N, P, 9 P, ¥F & x AF y TI{ 7,
SRIFICOR Tle Sfere |
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(5)

() Show that average cost is the
combination of average fixed cost and
average variable cost.

(ST @ M I A M 7I W A T
o{faSeTIe] IS 9 |

(g9 What is strong ordering?
e @1 52

(h) Distinguish between risk-averter and
risk-neutral individuals.

APl o - arfﬁ e
e folefd 41 |

(i) State the two conditions for equilibrium
of firm under perfect competition.

o AP Teme AfSdFR ST 79

o1 ey 91 |
() What is a marginal firm?
AfeT ef v 5 2
3. Answer the following questions (any four) :
5x4=20

ToH 2R Beq (R e wifRot)

(a) Briefly explain the principle of
diminishing marginal rate of
substitution. What role does it play in
shaping indifference curves? 3+2=5
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(6)

SRrEE Afes dfeTs =@ e e
90 | freers @1 om AR ovge 3 S
Al ¢S ? ‘ .

() What is income-consumption curve?
Derive income-consumption curve for
normal goods. - 1+4=5

TE-Been @R 7 Tl AR Sm-
To[CeI9l (O SRS 41 | |

(c) Explain the revealed preference
hypothesis. 5

A AT AFFCO! T 41 |

(d) Fill in the blanks in the table below :

1+1+1+2=5
To SRR WAl AR {9
Output | Total Total Total Average Average
Seopry | cost (T) fixed variable fixed variable

P cost () cost (T) cost () cost ()
wGw) | PRI | P oReea | asRe | T ARTETTe
wWET) | wmE | wewm | )

50 — — — —

70 — — — —
100 — — — —
120 = — - =
135 — — — —
150 = — = =
160 — = - =
165 — — — —

NJjo|joh W |- O
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(7))

(e) Examine the following data on outputs
and inputs. What type of returns to
scale does it represent and why? Give
arguments : 2+3=5

oo fral SeoAE W IR Sz A<
T 1 R @R T TR 2 afefey iz

e R 2 e i -
Capital (J7%) (K) | Labour (73) (L)| Output (3&717) (Q)
5 8 3
10 16 6
20 32 12
40 64 24

(/ What is expansion path? Derive
expansion path with the help of diagram.
1+4=5

TP Y f§ 2 oaq ST2R iR 719 SEed
Bl

(g) Derive average fixed cost curve from total
fixed cost curve. 5

I 79 I @R a9 o B AW @9 eI
3 |

(h) Can a firm under perfect competition
operate in the short-run when it is
making losses? If so, explain the
condition with the help of diagram. 1+4=5
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(8

o AfSfeRET TECT ZFIEe Gbl A
IORR TR 2'Tee Beome IR bR AT
@ ? I AT, o ~RERe o s=Te
SusnESIll

4. Answer the following questions (any fourn :
10x4=40

werq 2CRIeT Tt fran (R e wif¥ht) -

(a) With the help of indifference curve
analysis, derive individual and market
demand curve. 6+4=10

e @9 Remae seFe Ife sitn @3 S
I I @ 21 A7 |

(b) Explain Slutsky substitution effect for a
rise in price and for a fall in price.
5+5=10
WY 3 S T ZPR OGS MGha Afess R
RISl

() What is meant by inter-temporal
choice? Explain inter-temporal choice of
consumption. 2+8=10
@OWINS A" WA [ qEH? SN

SFSIIINO “[=™ R Pl |
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(9

(d) State and prove Samuelson’s
fundamental theorem of demand.
Mention any two limitations of the
theorem. 8+2=10

oI (e ST o Sy 9 W
I 901 ©goR R 1o 151 Smel Seay
Sl

(e) What are the assumptions of N-M utility
function? How can N-M utility index be
constructed to explain the choices by an
individual under risky and uncertain
situations? Explain. 2+8=10
N-M Tofeaiare! e SfeqRarmR ¢ % 2 wfe-
I o Sferorel cfifEfee ufed o=
FRAE N-M To@] 56F (Feed 15 FI<
IR 2 <0

(f) State the law of diminishing returns.
Why do diminishing returns to a variable
input occur eventually? Can they become
negative? If so, why? 4+3+2+1=10
TUEPEA  Seom REGT SeEw w0 9o
RGN TAMA  (FE®  GRRPE ST
oS R W2 T 4IRS TS AR 2 T
I, 19 ?
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(10 )

(g9 What are increasing returns to scale?
Show them on an isoquant map. Explain

- the causes of increasing returns to scale.
1+5+4=10

TR Teome Tl 2 -Seome  Aoad

MRS (78T | GRIET S A FRPIR
71 401

(h) Define marginal cost. How is it related to
marginal product of a factor? As output
is increased, marginal cost first falls and
then beyond a certain point it rises. How
would you explain it? 1+5+4=10

Jgfes T W@ W @Bl TAmER e
T TS TR AR RE WI0R?
e @A I+, SR 57 A9 JOT W
I 4o1 Fifve e e 2 3% om0 e o
(FCCT I FIRAT 2

() What is meant by firm’s equilibrium?
Explain how a firm arrives in equilibrium
in the short-run. 2+8=10

SR SRET T % oW 2 2FerEe 2AfR
<513 FEMC ST w1 ¢, W 40 |
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( 11 )

(j) Distinguish between market price and
normal price. Explain the determination
of market price in the very short period
under perfect competition. 4+6=10

IER T I FERE 791 oo A1 [T 547 |
o AfSCIPENe Toe wfe ZFFrEe I6H ™
i aifem I <4 |

* ok
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